
EXAM FM QUESTIONS OF THE WEEK
S. Broverman, 2005

Week of January 23/06

A mortgage loan has level monthly payments for 30 years, with the first payment due one month
after the loan is made. It is found that the total principal repaid in the first 20 years of the loan is
80% of the principal repaid in the final 10 years of the loan. Find the loan interest rate as a
nominal annual rate compounded monthly.

The solution can be found below.



Week of January 23/06 - Solution

The loan will have 360 monthly payments.
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The principal repaid in the first 20 years is
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We are told that
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